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B law T =1 = | ™= =
BERE 1 8 2 6 9 27 11 16
SCRE 4 12 5 7 2 2 4
arE|l 10 34 20 14 3 1 5
fRELE 10 27 7 20 4 12 6 6
FNE 6 19 6 13 6 20 11 9
FREH 5 24 10 14 6 18 7 11
BEE| 13 34 15 19 3 7 1 6
IrEEER 5 15 6 9 9 19 7 12
AFME | 15 31 18 13 4 12 8 4
KIRE 8 23 14 9 9 22 9 13
KEHE 6 24 6 18 3 10 5 5
REH 4 8 6 2 4 12 4 8
SRE] 12 29 11 18 8 23 11 12
SEE 3 8 1 7 1 5 0 5
EEE 4 8 2 6 3 12 4 8
IUEE 7 14 5 9 6 18 12
TEE| 11 35 20 15 17 31 15 16
JUIE 11 37 19 18 7 25 11 14
MEE 4 11 3 8 3 7 3 4
FaE 24 59 30 29 12 32 14 18
AELE | 14 30 13 17 7 15 8 7
piE | 13 43 23 20 5 20 7 13
BZE]| 12 26 10 16 11 25 12 13
KEE 4 13 3 10 7 18 5 13
MR E 13 34 17 17 7 21 4 17
MEE 20 11 9 4 9 3 6
e 23 16 7 5 13 8 5
EE 26 8 18 1 2 0 2
FREHE 22 11 11 6 12 1 11
pRIE | 10 23 8 15 8 18 2 16
BLE]L OIS 41 15 26 9 19 5 14
FE 3 6 3 3 4 10 5 5
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3 dEET % 2z mH Hant * 2
XALE 5 15 6 9 6 14 3 11
SFEE 6 11 7 4 5 17 8 9
BMEE 14 26 9 17 13 41 18 23
BREE | 16 47 23 24 13 34 15 19
—fEE | 10 37 14 23 5 22 10 12
BB 16 65 29 36 12 29 10 19
RIFE 3 7 2 2 6 3
AL 1 2 0 2 2 2
REE 2 2 2 3 3
B 2 1 1 1 0
& gt| 353 981 437 544 254 675 264 411




